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m CHAPTER 5 TEST REVIEW (#1)

1) Boston is more than 200 miles away.

a. Write an inequality to describe the distance to Boston. B > ZO o

b. Craph the solution set to the inequality.
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2) A graph of the system {y 1r+2 is shown below. Using the graph, estimate the solution.
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3) What is the difference between a ‘consistent’ system and an ‘inconsistent’ system?

conssrent —  has a Solution
nwonsient — has no Sowrion

4} Solve the following system.
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5) Solve the following systerh.

3x+2y+z=18
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6) Solve the inequality and graph the solution set on a number line. @
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7) Graph the inequality y < 2x+ 3 on the grid below.
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Identify two points that satisfy the inequality.

(0.,0)
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8) BSolve the following system.
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10) Write an inequality that represents the shaded region belcoiif\:b @
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8) BSolve the following system.
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11) The admission fee at a fair is $1.50 for children and $4.00 for adults. On a certain day, 2200
people enter the fair and $SOSO is collected.

a. Define the variables in this situation.

C= Chi\dveny
A= oduits

b. Write a system of equations to represent this situation.

1950-C + H-A= 95090
4ol v+ A = ZZOO

c. Solve the system to determine the number of child and adult tickets sold.
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12) Jim and Elena are planning a wedding. Their reception hall charges a flat hall rental fee and
an additional charge per person for catering. Elena wants to invite 185 people, and she
determines this will cost them $9400. Jim wants to cut costs to $5000, and figures out that Q
they could invite 75 people for this amount.

a. Define the variables in this situation.

F= flatx fee
A= addirional thavde v pevsond

b. Write a system of equations to represent this situation.
F +1€5-A = 4100
F + 715 A = 5000

¢, Solve the system to determine the reception hall’s flat rate and the caterer’s charge
per person.

\15A =400 Borom:
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QA= 4400 Fa ”5;300 ;§O§<§>
13) Solve the following systé 1o Fd000
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14) Write an inequality that represents the shaded region below.
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Does tecdﬁté (0, 0) satisfy the inequality? No O
Justify your answer. . .
(0,0) s not in the
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18) Graph the inequality y < % x+1.
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16) Graph the system 0 and identify the solution.
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Solution:

(4,0)
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17) Graph the system of inequalities J - }/
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18) Show the solution set on a number line.
f:-3<x<5}
19) Show the solution set on a number line. 5-4-3-2-1012 34125
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20) Solve the following system. -5-4-3-2-1012 3425

{zTSy!=—4O (U(O’ ‘LQ)
T
X-5(-2x+12L) =-40 Top:
XFI9X -LED= 4O = ol
o %-b§h =40 gl

¥ + WD 7
Rox=le4p  J



